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I ndian Army Technical sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN
TIME-1HR. | QUESTIONS -50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. When Akbar was young, his guardian 05. The first bank established in India was
was YR BT 9 UgAT b I AT UT?
T PR BleT T a ITST AFUUTTS B Y12 a. Punjab National Bank / USTTs A3Md 8%
a. Hemu/?9q b. Traders Bank / SR} &
 Faizi /Bt c. State Bank of India / 4R %< &%

b - o A\
c. Abul Fazal / 3/9d %o d. Bank of Hindustan / d& 3iTts fggeam
d

. Bairam Khan / SkE@H c ;
06. India has the maximum volume of

i i ; foreign trade with
02. In which session of congress, this
organization splitted YR FHd A1y Fa9 S ATIR HaT 32

PO & fFT I w1a | A G471 favnfora g32 a. USA/ sredien
b. Japan /SmaE
a. Surat, 1907

c. Germany / S

b. Gaya, 1922 d. UAE / ¥gad 3R 3HRId
c. Madras, 1927
d. Lahore, 1929 07. The Constituent Assembly which
framed the constitution for
03. India is the largest producer of independent India was set up in
HIRT fhHeT a8 78T e 3 87 T THT S ) W HRA & TR $ R s
a. Coffee / ®Iwt TH Ha =i §5°
b. Tobacco / dard a. 1945
c. Oilseeds / faaga b. 1946
d. Wheat /g c. 1947
d. 1949
04. Which state has smallest land area
ATFA B TP A TG BT U2 08. India became a sovereign,
a. Goa/ar democratic republic on?
b. Nagaland / ArTeis YR AT SR YA 0 HF a1
c. Sikkim / R a. August 15, 1947
d. Tripura /g b. January 30, 1948

c. January 26, 1950
d. November 26, 1929
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09. Who wrote the book ‘A Passage

10.

11.

12.

13.

to India’

'A Passage to India’ ITH® J¥ddh fra
ferdt?

a. Minoo Masani / i Tt

b. Jawaharlal Nehru / STaTgx a1 "
c. Victor Banerjee / fagex soif

d. E.M. Forster / 3. TH. BR®X

Who among the following was the

first woman Union Minister of India

o A @ 99 vga B wigan

HRA BT S HA T

a. Sarojini Naidu / SRS A1Ig

b. Rajkumari Amrit Kaur / JSIGHRT 3AJd R
c. Indira Gandhi / $f&=T gt

d. Ambika Soni / siferT It

The least prime number is

T DI U =T S Al 82

P W N O

a.
b.
C.
d.
The square root of 4096 by means
of factors is
4096 foraeT aiga 82

a. 32

b. 64

C. 96
d. 24

If each side of a rectangle is increased
by 50%, its area will increase by

3R TP Td FT YD U& Yoo FaT g, al
IS &7 # fra-t ggadt griiz

a. 125%

b. 150%

c. 200%

d. 50%
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The least number which when divided

by 5, 6, 7 and 8 leaves a remainder 3,

but when divided by 9 leaves no

remainder is

5 & A 97 99d BId H1 I T@wm @ R w§,0,31R
¢ & fawnfora foar I <t A9 3 s, a@fe < & fean
W, o a8 TR1 fafora g

3246

1863

1363

1683

oo o

The average of four number is 30. If

the sum of first three number is 85.

The fourth number is

f=8) IR Temai &1 3 30 2, afe ugeh
T G=msit &1 AT ¢4 B, @ f "=
a1 8t

.30

35

45

55

oo oo

A:B=5:7andB:C=6:1.S0

A:B:Cis

gfg A:B=5:73RB:C=6:1.a, A:B:Cfra
g

a. 5:7:6

b. 5:7:1

c. 30:7:42

d. 30:42:7

A football team won 4 % of the total
number of matches it played during a
year. If it lost 6 matches in all and no
match was drawn, find the total number
of matches played by the team during

the year?

U Peard a1 § IqTe H Yoo, A oftad! 3,

gfe 91 39 ITe & A ERA 8, O 9 91a 39
3 g e Ao @

a. 30

b. 15
c. 20
d. 10
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18. By selling a cycle for Rs 330, a man 22. The length, breadth and height of a

gains 10%. What is the cost price of

room are 5m, 4.5m and 3m

the cycle . respectively. The volume of the air
e P AR TP HIZPT Y 330 FUT H dagall it contains is
2 3R T8 2006 HHTAT &, A WIS BT ara® fs et o &) dars, DTS SR HaE Haw:
T TS 5m, 4.5m 3R 3m B, @ SH S | g1 B
a. Rs 200 mwg}rn?
b. Rs 300
¥ Réh00 a. 65700 L
3 N b. 67500 L
2 c. 6750L

19. The rate percent per annum with simple

interest, if Rs.100 interest is paid on

Rs.500 for 2 year, is

yfaay AR STST &R [T DT TG Yoo TUY
BT 4 AR TR R A A 200 FYT BT TS FAerar &
ar

20. A train passes telegraph post in 40s

moving at a rate of 36 km/h. Then the
length of the train is

gfe $1g ¢ 35 fpHi/be o) TwR A et T

23

24

d. None of these

. A rectangle whose length is three

Times of its width has a perimeter of
32 m. Its width and length are

TP 3gd Rraat dard Sue! e & I € ok

a. 20 % SHS! gRfY 33 1 § 1 g digTs ok | g
b. 15% Bifore?
c. 10% a. 12,6
d. 5% b. 12,4
c. 8,6
d 8,4

.Aset, A ={x:xisan integer and

- 3 < X < 7}. Then the roster form

TR $1 TR 1 A ¥o Vs Adl 8, At 2 of Ais

o A dars fPa-l gril? TH I, A={x - x T QUITF Z 3R -3<x <7}, alA
a. 400 m D gl |1 g

b. 500 m a. {-2,-1,0,1,2,3,4,5, 6}

c. 450m b. {1,2, 3 4,5,6,7}

d. 395m c. {-3,-2,-1,0,7}

21. The area of a rectangle is 255 cm?

d. {-3,-2,-1,0,1,2,3,4,5,6}

and its length is 17cm. The breadth 25.1/8 -1/9 =?

of the rectangle is a. 1/72

gfe fp=dt 3 &1 &A% 255 cm? § 3R IS b. 1/36

waTs Qo A ], A I ma PSS FE AR c. 3/72

fra anft? d. 7/72

a. 12cm .

b. 10cm 26. Audible range of dog’s ears IS

c. 15¢cm P & P & YT DHAT Fm A 9§ frat gt 32

d. None of these/%‘lﬁ@ Tﬁ's; I@

a. 151t0 50000 Hz
b. 20 to 20000 Hz
c. 30 to 30000 Hz
d. 40 to 40000 Hz
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27. Decibel is
sREaf g A w e
a. musical instrument / Fifid & IuHOT
b. musical note / Tfid W
c. measure of sound level / &4 ¥R & IUT
d. the wavelength of noise / R &I a3 e

28. Myopia, a defect of eye can be
corrected by using

e Sar B 7 @ fra o9 g1 S 8t
Tbdl g2

a.
b.
G
d.

convex lens / 37d 9
concave lens / 3fadd o9
cylindrical lens / STATHR o9
All of the above / TR & T+t

29. In the absence of atmosphere,
the length of the day on the earth
will be

araTaRol & faqr eRet R o) Y erafdr & gift?

a.
b.
c.
d.

Smaller / B1¢
Longer / 98

Same / '3 3R Tl ST
Double / T 8 ST

30. What is a zoom lens

yade da A A A w2

a.

b.

C.

d.

It is a lens having fixed focal length /

T A Pl Bibd daTs RR SR §

Itis a lens having variable focal length /
T A9 B BIohd dals URadTRId giet §

It is a lens used in radio, telescope / I8 o,
e 3R R A ST B B

None of the above / 378 ¥ ®Is gl

31. The blue color of the sky is due to
the fact that
STRTHT 1 1 el wal ghar 82

a.
b.

red light is absorbed / @Te ¥ SN 81 ot 8
blue light is scattered by the particles of dust,
frozen moisture, air molecules etc/ et A=
Yd, TG THI 3R §AT &b (U] P HUT &b HRUT
forReR St &

red light scattered by the air molecules / dra
A 5T & 310] & HRUT fSRaR SNt

This is its natural color / I8 391 U UIdhidd
R
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32. Which of the following is not a chemical

source of electricity?

o & o1 faerelt &1 Imafae da a8 e
a. Drycell / g5 3d

b. Lead acid cell / TS TRie @

c. Daniel cell / o dd

d. Dynamo / S9!

33. Which of the following is not the

branch of Physics?

g & & o1 Hifae fag= <1 e 8 82
a.  Mechanics / gif3t

b. Statistics / Gt

c. Dynamics / Tricr=fierdr

d. Optics / UbTRre!

34. A 1000kg car can accelerate from rest

to a speed of 25m/s in 10s. What
average power must the engine of the
car produce in order to cause this
acceleration? Neglect friction loss.

TS Q000 fhdl Bt FR THI §F AARATA Y
HieeRids 31 71 20 TP # UTwd X Al 3
At 9191 D1 §H @RI Bt A P | A
o= ga @ afe e s A AT S @ |

a. 31.25 kw
b. 43.01 kW
c. 52.86 kW
d. 28.74 kW

35. A red flower kept in green light

will appear

gfe frelt ara Ba &1 % 31 31 Az E @ W n,
1 9§ & feamm?

a. red/drd

b. green/®

c. white / 9%he
d. black / srarm

Download More @ www.40no.com

4ono.com


http://www.4ono.com/

4ono.com

36.

37.

38.

39.

40.

41.

4ono.com  4ono.com 4ono.com 4ono.com 4ono.com

Which of the following has the longest
Wavelength?

o & 3 fraet gad ddt axn e 32

a. Blue light / et gt

b. Gamma ray / T o0

c. X-ray /U faor

d. Red light / @ref 31

The calorific value of the fuel is
measured in

Y9 & oy 9= &) feay wrar
ST 872

a. Kelvin / ofedd

b. Candela/&usar
c. None Calorie / &aRt
d

. of these / 398 ¥ P13 T8l

Light year is a unit of

THTRIAY fha®t 3HTS 82

a. Distance / g8l

b. Time/3JHa

c. Mass/HR

d. intensity of light / TTeT=I 1 Tleicll

The carbon content in steel is
T # Braq &1 AET fha- gidl 87
a. 10to 15%

b. 5t08%

C. 2t02.5%

d. 0.021t01.5%

The following gas absorbs ultraviolet
radiations coming from the sun
T4 A 3 areft wRTaT fBRon Bt B A A Al
2
a. Oxygen / fTRfSH

. Ozone / 3\

b
c. Carbon dioxide / FTETSZ3ARISS
d. Nitrogen / ArsgIeH

The basic principle used in hydrogen
bomb is

FTESIoH a0 5 qa Risia R rf sar @
a. nuclear fission / tH fadeA

b. nuclear fusion / GIHTY] g
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c. nuclear disintegration / tRHTY] fage
d. neutron splitting / g9 fauTe

Dry ice is

I[h I FT 72

a. solid carbon dioxide / 319 HTe
SIEEICRIESS

b. solid carbon monoxide / 31 &TeA
aeeTs

c. water gas / T areft

d. liquid carbon dioxide / TRd a4 SRIHFZS

Which of the following varieties of coal
has higher percentage of carbon?

0 1 3 Bigd o1 B At forw § 1= &t e
T 34fre gl 82

a. Anthracite / QS

b. Bituminous / fagfE=g

c. Lignite / feramse

d. Peat/dle

Milk is an example of
g4 frue1 ta Sarer 32
a. Emulsion /argyg

b. Suspension / s
c. Coagulation / 5H1de
d. Dialysis / Srafaf™

Which of the following is not a
chemical fertilizer

7 & 4 79 te Tarfe I&Re T8 82

a. Blood /=TS

b. Calcium cyanimide / Hfekrm qrafafire

c. Urea/gfan
d. Bone meal / 919 &

Which of the following is not a product

of petroleum refining

o & ¥ P Uiy TRYE &1 IdTe A8 8 2
a. Diesel oil / SISid 3

b. Gasoline / T
c. Kerosene oil / IR maa
d

. Toluene / TgH
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47. Kerosene oil is a mixture of 50. Nucleus of atom consists of
frdt &1 da o A @ fraer frgor 22 it Ry & i o g 82
a. Alkanes / 3@@-d a. Electron /3dacH
b. aromatic compounds / RIACH Hurdgd b. proton and neutron / W9 3R =i
c. alcohols / 3fehigied c. electron and proton / SdagH 3R WA
d. aliphatic acids / Sfethfess TRy d. neutron /=g

48. LPG mainly contains
LPG ¥ &1 U 9§ ®I9 dt A9 gt 22
a. methane/did=
b. propane and butane/so= 3R sge=
c. methane and ethane/mf2 3R 329
d. hydrogen, methane and ethane/grsgior, H1a4
3R 3T

49. Which of the following substance is not
matter
Fadd o Te ugrd g 8 2
a. Glass /&
b. Wood / d&at
c. Light/ 91
d. Milk/gy

Answer key

1.(d) v 2. (@) v 3.(c) v 4 (a) V5. () v 6.(a) v 7. (b) v 8. (c) v 9. (d) v 10. (b) v 11. (b) v 12. (b) v/
13. (a) v 14. (d) v 15. (b) v 16. (d) v 17. (d) v 18. (b) v 19. (c) v 20. (a) ¥ 21. (c) ¥ 22. (b) v 23. (b)
v 24.(d) v 25. (a) v 26. () v 27. (c) v 28. (b) v 29. (a) v 30. (b) v 31. (b) v 32. (d) v 33. (b) v 34.
(a) v 35. (d) v 36. (c) v 37. (c) v 38. (a) v 39. (d) v 40. (b) v 41. (b) v 42. (a) v 43. (a) v 44. (a) v

45. (a) v 46. (d) v 47. (a) v 48. (b) v 49. () v 50. (b) v/
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